101 28,630 4,000
= 2l L 120 4,000 5,000 5,000 5,000 4,450 4,760 3,000 , 000 3,800
1,000 5,000 5,000 5,000 1,000 5,210 3, 800 - ) 173
2,610 2,600 1, 800 2,000
8, 200
LFER B+Ep
[] 1 1 1 1 : 1 — ] 1 1 1 1 1 [ ]
g ‘ [ ] : = X2 ‘ L=
) — BESRAE]. 2-2C (PF16) #AE1. 2-20IZ AREE X — g r \ - - # t — r
— %2 | — @ | /(Hj\'&')\ /// \\ __ L
| [ g = _ - = \ / N
| ] S E— e I BRSRAE1. 2-2C (PF16) £AE1. 2-2CI- A& X | 1| meswes| o0 |5 |
5 | P i == g 2 =
; | - J ) \ / BEGTFE N | upeEsrTEESE
‘ 1D 1 e DN -
‘ 0 | | A ’ . | }
— C| = 2 i T ] | ] Iy [
| ‘ N o
| [\1 ﬁ/rf \ , D
| 1] \ / B
g | I = E . , BT
< | | B foat < %
i} | les | A\ /
| AB@ \ Vi |
= r ‘ - - :I \ / % ‘ bj‘z\ D—— p—
= ‘ ] g = _
5 } UP g \ / | 2 L , _ i
T = T |
| | K m >< | 1_“ “F
g | g Xy Y- |
s | B il “ ] = SN |
} _\ / \ | BEEXAE1. 2-3C x 2 (PF22) ZAE1. 2-6CIC A& Z
|
| | / ) I
— O - u - / \ - ]
| | ) /. BNERS LS (k) . |
| ' 1 : / N\ |
g } \K s , N —F AT =A()
© ‘ _ ‘
= —— - / N - 1)
| \ I ‘ ° B
| ’ | / N
= | B s , |
] I ! |
! Fy7Y— |
QD w ] 5 1 M M M 1 N
U U U U U U
= = e = n 820 5,750 5, 750 5,750 5, 750 5,210
A 29,030 4,000 3,800 8,200
820 28,210 4,000 3, 800 8, 200
s £ EhRAGEERETRET S
O | th-ioTis ——#—— BEERAEQ. 9-2C (PF16) ZAET. 2-2CI- A& X
BREHE 1BREER  1/200 —##—— BEERAEQ. 9-4C (PF16) £AE1. 2-4CIC A X BREE 2BEEHR  1/200
EREHIS
%2 | BROSRTFRERE LU FROBHETS
[##EE%IE] E :R E ﬁ =n E_I_ $ 7% _ﬁ EBRERS 1BTFEE A2: 1/200 - A3: 1/282
: AX & 15 F SHTERE BHNERA L A—hoBETE EREDS 2KTER A2:1/200 - A3:1/282 | E —— 10
- % EE L No. 117422 R ¥ E




